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The Fisher Effect primarily emphasizes the effects of risk
on an investor’s rate of return.
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The Fisher effect is defined as the relationship between which of
the following variables?

(A)default risk premium, inflation risk premium, and real rates
(Bnominal rates, real rates, and interest rate risk premium
(O)interest rate risk premium, real rates, and default risk premium




(Direal rates, inflation rates, and nominal rates
(E)real rates, interest rate risk premium, and nominal rates.
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If you expect inflation during the next year to be 5% and you
desire a 2% real return, according to Fisher's theory you would

require:

(Aa real return on T-Bills larger than 7%

(B)a real return on T-Bills larger than 5%

(C)a nominal return on T-Bills less than 7%

(D)None of the above. [ 2504 ]
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